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7KH�SXUSRVH�RI� WKLV� VWXG\�ZDV� WR�����([SORULQJ� WKH�SRWHQWLDO�PDJQLWXGH�RI� ]DNDW� LQ�

%DQ\XPDV� DQG� 3XUEDOLQJJD�� ��� ,GHQWLI\� WKH� SD\HU� SURILOH� =,6:$� ��� ,QYHQWRU\�

SUREOHPV� WKDW� DULVH� LQ�23=�PDUNHWLQJ� �� 7KH� UHVXOWV� RI� WKLV� VWXG\� LQGLFDWH� WKDW� WKH�

SRWHQWLDO� RI� ]DNDW� LQ� %DQ\XPDV� GLVWULFW� XQWLO� ����� WR� UHDFK� 5S� ���� ����� ��� ����

PLOOLRQ� XS� WR�5S�� ���� ����� �����PLOOLRQ��3RWHQWLDO� ]DNDW� LQ�3XUEDOLQJJD� UHDFK�5S�

������������ PLOOLRQ� WR� 5S� ������������� PLOOLRQ�� 7KLV� VWXG\� DOVR� VKRZV� WKDW� WKH�

DFKLHYHPHQW�RI�WKH�FROOHFWLRQ�RI�]DNDW�WKURXJK�23=�LV�VWLOO�YHU\�VPDOO�FRPSDUHG�WR�LWV�

SRWHQWLDO�� ���� WR� ������ZLWK� DQ� DYHUDJH� RI� ������ IRU�%DQ\XPDV� DQG� ����� WR� �����

SHUFHQW� ZLWK� D� PHDQ� DYHUDJH� ����� SHUFHQW� WR� 3XUEDOLQJJD�� 0X]DNNL� JHQHUDOO\�

0XVOLPV�ZKR�OLYH�LQ�WKH�UHJLRQ�RI�23=��������ZHUH�LQ�WKH�DJH�JURXS�EHWZHHQ�������

\HDUV�� ���� PDOH� DQG� ���� KDYH� VRPH� FROOHJH� HGXFDWLRQ�� ������ KDYH� DQ� LQFRPH�

EHWZHHQ� ���� PLOOLRQ�� 7KH\� DUH� PRVW� DEXQGDQW� �������� ZRUNHG� DV� D� FLYLO� VHUYDQW��

SULYDWH� VHFWRU� HPSOR\HHV� DQG� HPSOR\HUV� UHVSHFWLYHO\� RI� ����� SHUFHQW�� 6RPH� RI� WKH�

FRQVWUDLQWV� IDFHG� E\� 23=� LV� SXEOLF� DZDUHQHVV� LQ� KRZ� WR� FDOFXODWH� DQG� GLVWULEXWH�

IXQGV�WKURXJK�23=���OLPLWHG�EXGJHW� IRU� WKH�RSHUDWLRQDO�PDQDJHPHQW�RI�=,6:$��WKH�

VKRUWDJH� RI� KXPDQ� UHVRXUFHV� DQG� FRPSHWHQFH� WR� 23=�� GXDOLVP� FHQWUDOL]HG�

OHDGHUVKLS�DQG�RUJDQL]DWLRQDO�PDQDJHPHQW� V\VWHPV�� WKH� ODFN�RI� FRPPLWPHQW� WR� WKH�

H[LVWHQFH�RI�WKH�DJHQF\�ERDUG��,Q�JHQHUDO�23=�\HW�IXOO\�UXQ�UHODWLRQVKLS�PDUNHWLQJ�LQ�

LQFUHDVLQJ�WKH�DPRXQW�RI�IXQGUDLVLQJ�=,6:$��23=�QRW�JLYH�VXIILFLHQW�DWWHQWLRQ�WR�WKH�

ORQJ� WLPH� FRQWULEXWRUV��23=� QRW� SD\� DWWHQWLRQ� WR� WKH� OHYHO� RI� VDWLVIDFWLRQ�ZLWK� WKH�

VHUYLFHV�23=�FRQWULEXWRU��GRHV�QRW�KDYH�D�SURILOH�GDWDEDVH�RI�FRQWULEXWRUV��23=�OHVV�

LQYROYHG� LQ� WKH�PDQDJHPHQW�RI� ORQJ�FRQWULEXWRU�=,6:$��)HZ�GRQRUV�DUH�ZLOOLQJ� WR�

SDUWLFLSDWH�DFWLYHO\�LQ�WKH�PDQDJHPHQW�=,6:$�LQ�23=��6RPH�LPSOLFDWLRQV�DUH�JLYHQ�

LQ�WKLV�VWXG\��

�

.H\ZRUG���=DNDW�PDQDJHPHQW�RUJDQL]DWLRQ��UHODWLRQVKLS�PDUNHWLQJ��

�
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�=DNDW� PHUXSDNDQ� VDODK� VDWX�

GDUL� OLPD� UXNXQ� \DQJ� ZDMLE� GLODNXNDQ�

ROHK� XPDW� ,VODP� VHEDJDL� PDQD� \DQJ�

WHUPDNWXE� GDODP� 4XU¶DQ� 6XUDW� $W��

7DXEDK������������0HQXUXW�LVWLODK�ILNLK��

]DNDW�GLDUWLNDQ�VHEDJDL�µVHMXPODK�KDUWD�

WHUWHQWX� \DQJ� GLZDMLENDQ� $OORK�

GLVHUDKNDQ� NHSDGD� RUDQJ�RUDQJ� \DQJ�

EHUKDN¶� GL� VDPSLQJ� EHUDUWL�

µPHQJHOXDUNDQ� MXPODK� WHUWHQWX� LWX�

VHQGLUL¶��4DUGDZL���������0HQJLQJDW�GL�
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,QGRQHVLD� MXPODK� XPDW� ,VODP� VDQJDW�

EHVDU�� PDND� SRWHQVL� ]DNDW� MXJD� EHVDU��

$SDELOD� GLNHOROD� GHQJDQ� SURIHVVLRQDO�

EXNDQ� WLGDN� PXQJNLQ� ]DNDW� GDSDW�

PHQMDGL� LQVWUXPHQ� \DQJ� EDLN� XQWXN�

SHPEHUGD\DDQ� PDV\DUDNDW��

SHQJHQWDVDQ� NHPLVNLQDQ� �+D\DWL� 	�

&KDQLDJR��������SHPHUDWDDQ�NHND\DDQ��

SHQDQJJXODQJDQ� EHQFDQD�� %HUEDJDL�

SHQHOLWLDQ� WHODK� PHQXQMXNNDQ� EDKZD�

SRWHQVL� ]DNDW� QDVLRQDO� VDQJDW� EHVDU��

,QGRQHVLDQ�0DJQLILFHQW�RI�=DNDW��,0=��

PHQ\DWDNDQ� SRWHQVL� ]DNDW� QDVLRQDO�

VHEHVDU� 5S� ����� WULO\XQ� VHPHQWDUD�

%D]QDV� �%DGDQ� $PLO� ]DNDW� QDVLRQDO��

PHQ\DWDNDQ� VHEHVDU� 5S� ���� WULO\XQ�

�WHUPDVXN�]DNDW�UXPDK�WDQJJD��LQGXVWUL��

WDEXQJDQ� GDQ� %801��� 6D\DQJQ\D��

SHQFDSDLDQ�GDQD�]DNDW�\DQJ� WHUNXPSXO�

PHODOXL� RUJDQLVDVL� SHQJHOROD� ]DNDW�

PDVLK� MDXK� GL� EDZDK�SRWHQVLQ\D� \DNQL�

VHEHVDU� 5S� ���� WULO\XQ� �WDKXQ� ������

�,QWHUQHW�� GL� DNVHV� ������������

3HQHOLWLDQ� VHEHOXPQ\D� PHQXQMXNNDQ�

KDO�KDO�\DQJ�PHQMDGL�SHQ\HEDE�NXUDQJ�

RSWLPDOQ\D� SHQJHORODDQ� ]DNDW�� VHSHUWL�

NXUDQJ� SURIHVLRQDOQ\D� RUJDQLVDVL�

�+D\DWL�� ������� WLGDN� VHPXD� 23=�

WHUVHEXW� PHODNXNDQ� SHUHQFDQDDQ�

VWUDWHJLV�� �'DUPDZDWL� GNN��������

NRPLWPHQ� SHQJHOROD� WHUKDGDS�

RUJDQLVDVL� NXUDQJ�� VHULQJQ\D� WHUMDGL�

NHOXDU� PDVXN� NDU\DZDQ� 'DUPDZDWL�

GNN� �������� 6HODLQ� LWX�� SHPDKDPDQ�

PDV\DNDW� WHQWDQJ� ]DNDW� PDVLK� NXUDQJ��

SROD� PHPEHUL� NRQYHQVLRQDO� GDQ�

EHUMDQJND� SHQGHN�� 0DV\DUDNDW�

EHUSHQGDSDWDQ� PHQHQJDK�DWDV� GL� ���

NRWD� EHVDU� GL� ,QGRQHVLD� OHELK� PHPLOLK��

0HQ\DOXUNDQ� VXPEDQJDQQ\D� VHFDUD�

NRQYHQVLRQDO� GDULSDGD� PHODOXL�

RUJDQLVDVL� SHQJHOROD�� NDUHQD� PHUHND�

LQJLQ� EHULQWHUDNVL� VHFDUD� ODQJVXQJ�

GHQJDQ� SHQHULPD� GDQ� NXUDQJQ\D�

NHSHUFD\DDQ�NHSDGD�RUJDQLVDVL��6XUYH\�

3,5$&� WDKXQ� ������ 6XPEHU��

GHWLN�FRP�GLDNVHV�������������

2OHK� NDUHQDQ\D�� SHUOX�

GLODNXNDQ� SHQHOLWLDQ� WHUNDLW� GHQJDQ�

SHPDVDUDQ� RUJDQLVDVL� SHQJHOROD� ]DNDW�

�23=�� DJDU� OHELK� EHUGD\D� JXQD� GDQ�

EHUKDVLO� JXQD�� 8QWXN� PHPIRNXVNDQ�

SHQHOLWLDQ� LQL�� PDND� DNDQ� GLDPELO�

VXE\HN� SHQHOLWLDQ� GXD� NDEXSDWHQ� \DQJ�

EHUDGD� GL� ZLOD\DK� HNV� .DUHVLGHQDQ�

%DQ\XPDV� \DLWX�.DEXSDWHQ�%DQ\XPDV�

GDQ� 3XUEDOLQJJD�� � 'LSLOLKQ\D� GXD�

NDEXSDWHQ� LQL� GHQJDQ� SHUWLPEDQJDQ�

EDKZD� NHGXDQ\D� PHPSXQ\DL� 23=�

\DQJ�EHUNHPEDQJ�OHELK�EDLN�GLEDQGLQJ�

NDEXSDWHQ�ODLQQ\D���

%HUGDVDUNDQ� ODWDU� EHODNDQJ�

LQL�� PDND� SHUOX� GLUXPXVNDQ� EHEHUDSD�

SHUPDVDODKDQ���

���%HUDSD� EHVDU� SRWHQVL� ]DNDW� GL�

.DEXSDWHQ� %DQ\XPDV� GDQ�

3XUEDOLQJJD"�

���%DJDLPDQD� SURILO� SHPED\DU� ]DNDW��

LQIDT�� VHGHNDK� GDQ� ZDNDI� GL�

.DEXSDWHQ� %QD\XPDV� GDQ�

3XUEDOLQJJD"�

���$SD�VDMD�SHUPDVDODKDQ�\DQJ�GLDODPL�

ROHK� 23=� GDODP� SHPDVDUDQ�

NKXVXVQ\D"��

�

0(72'(�3(1(/,7,$1�

� 3HQHOLWLDQ� LQL�

GLUHQFDQDNDQ� DNDQ� GLJXQDNDQ�

SHQGHNDWDQ� VHFDUD� NXDOLWDWLI�� GHQJDQ�

UDQFDQJDQ� FDVH� VWXG\�� � 0HQXUXW� <LQ�

����������� FDVH� VWXG\� �VWXGL� NDVXV��

DGDODK� VXDWX� LQNXLUL� HPSLULV� \DQJ�

PHQ\HOLGLNL� IHQRPHQD� GL� GDODP�

NRQWHNV� NHKLGXSDQ� Q\DWD� ELODPDQD�

EDWDV�EDWDV� DQWDUD� IHQRPHQD� GDQ�

NRQWHNV� WDN� WDPSDN� GHQJDQ� WHJDV� GDQ�

ELODPDQD� PXOWL� VXPEHU� EXNWL�

GLPDQIDDWNDQ�� <LQ� MXJD� PHQ\DWDNDQ�

EDKZD� VWXGL� NDVXV� SDOLQJ� VHVXDL�

GLJXQDNDQ� SDGD� SHQHOLWLDQ� GHQJDQ�

UXPXVDQ�PDVDODKQ\D�EHUNHQDDQ�GHQJDQ�

µELODPDQD¶��KRZ��GDQ�µPHQJDSD¶��ZK\���

6HODLQ�LWX�FDVH�VWXG\�MXJD�SDOLQJ�VHVXDL�

GLJXQDNDQ� ELOD� WLGDN� GLEXWXKNDQ�

NRQWURO� WHUKDGDS� SHULVWLZD� GDQ�
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ELODPDQD� SHQHOLWLDQ� EHUWXMXDQ� XQWXN�

PHODFDN� SHULVWLZD�SHULVWLZD�

NRQWHPSRUHU�� ELOD� SHULVWLZD�SHULVWLZD�

\DQJ� UHOHYDQ� WLGDN�GDSDW�GLPDQLSXODVL��

$GDSXQ� VSHVLILNDVL� SHQHOLWLDQ� LQL�

DGDODK� GHVNULSWLI�� � 3HQHOLWLDQ� LQL��

PHQJJDPELO� ORNDVL� GXD� NDEXSDWHQ�

\DLWX� %DQ\XPDV� GDQ� 3XUEDOLQJJD���

GHQJDQ� SHUWLPEDQJDQ� VXGDK� PHZDNLOL�

ZLOD\DK� (NV� .DUHVLGHQDQ� %DQ\XPDV�

GHQJDQ� NDUDNWHULVWLN� PDV\DUDNDWQ\D�

\DQJ�KDPSLU�VDPD��

<DQJ� PHQMDGL� SRSXODVL�

SHQHOLWLDQ� LQL� DGDODK� 3HPED\DU� =DNDW��

LQIDT�� VHGHNDK� GDQ� ZDNDI� �=,6:$��

VHGDQJ� LQIRUPDQ� GDODP� SHQHOLWLDQ� LQL�

DGDODK�SHQJHOROD�2UJDQLVDVL��3HQJHOROD�

=DNDW� �23=��� � 8QWXN� PHPLOLK� 23=�

\DQJ� GLMDGLNDQ� VDPSHO� GLODNXNDQ�

GHQJDQ�PHWRGH�SXUSRVLI�VDPSOLQJ�\DLWX�

23=�\DQJ�WHODK�PHPLOLNL�VXUDW�LMLQ�GDQ�

DNWD� QRWDULV�� ,QIRUPDQ� VHODQMXWQ\D�

GLWHQWXNDQ� GHQJDQ� PHWRGH� VQRZEDOO�

VDPSOLQJ��

'DWD�GDWD� \DQJ� GLEXWXKNDQ�

GDODP� SHQHOLWLDQ� LQL� DGDODK� �� GDWD�

SULPHU�GDQ�GDWD� VHNXQGHU��'DWD�SULPHU�

EHUXSD� �� 'DWD� WHQWDQJ� SURILO� GDQ�

SHUVHSVL� SHPED\DU� =,6:$� WHQWDQJ�

DVSHN� \DQJ� GLWHOLWL� GL� .DEXSDWHQ�

%DQ\XPDV� GDQ� 3XUEDOLQJJD�� 'DWD�

LQLGLSHUROHK� GHQJDQ� NXLVLRQHU� \DQJ�

GLEHULNDQ� NHSDGD� UHVSRQGHQ� SHPED\DU�

=,6:$�� � 'DWD� SULPHU� ODLQQ\D� DGDODK�

GDWD� WHQWDQJ� SHUPDVDODK� SHPDVDUDQ�

\DQJ� GLDODPL� ROHK� 23=�� 'DWD� LQL�

GLSHUROHKGHQJDQ�ZDZDQFDUD�PHQGDODP�

GHQJDQ� SHQJHOROD� 23=�� $GDSXQ� GDWD�

VHNXQGHU� EHUXSD� �� GDWD� EHVDUQ\D�

3URGXN� 'RPHVWLN� 5HJLRQDO� %UXWR�

�3'5%�� PDVLQJ�PDVLQJ� NDEXSDWHQ��

'DWD� LQL� GLSHUROHK� GDUL� ODSRUDQ� %36�

�%LUR�3XVDW�6WDWLVWLN���

'DWD�\J�WHUNXPSXO�DNDQ�GLRODK�

GHQJDQ� PHQJJXQDNDQ� PHWRGH� UHGXNVL�

GDWD�� GHVSODL� GDWD� GDQ� NDWHJRUL� GDWD��

.DWHJRULVDVL� GDWD� GLGDVDUNDQ� SDGD�

PHWRGH� DQDOLVLV� NRPSDUDVL�� .DWHJRUL�

GDWD� DGDODK� VDODK� VDWX� WXPSXNDQ� GDUL�

VHSHUDQJNDW� WXPSXNDQ� \DQJ� GLV� DWDV�

GDVDU� SLNLUDQ�� LQVLWXVL�� SHQGDSDW� DWDX�

NULWHULD�WHUWHQWX���0ROHRQJ���������'DWD�

\DQJ�WHODK�GLRODK�DNDQ�GLVDMLNDQ�GDODP�

EHQWXN� WHNV� QDUDWLI� \DNQL� VXDWX� XUDLDQ�

\J�VLVWHPDWLV�� ORJLV�GDQ� UDVLRQDO�VHVXDL�

GHQJDQ�XUXWDQ�SRVLVL� NHSHQWLQJDQ�GDWD��

'L�VDPSLQJ�LWX�GDWD�DNDQ�GLVDMLNDQ�SXOD�

GDODP� EHQWXN� PDWULN� \DNQL� VXDWX�

SHQ\DMLDQ�GDWD�GDODP�EHQWXN�WDEHO�\DQJ�

GLLVL� GHQJDQ� XUDLDQ� GLJXQDNDQ� DGDODK�

NXDOLWDWLI� GLWHNDQNDQ� SDGD� PRGHO�

DQDOLVLV� SHUEDQGLQJDQ� GDQ� LQWHSUHWDVL�

GDWD���

8QWXN� PHQJLGHQWLILNDVL�

EHVDUQ\D� SRWHQVL� ]DNDW� GL� .DEXSDWHQ�

%DQ\XPDV� GDQ� 3XUEDOLQJJD� GLJXQDNDQ�

HVWLPDVL� EHUGDVDUNDQ� EHVDUQ\D� 3URGXN�

'RPHVWLN�5HJLRQDO�%UXWR�SDGD�PDVLQJ�

PDVLQJNDEXSDWHQ�� 3DGD� VWXGL� LQL�

SRWHQVL� ]DNDW� GLKLWXQJ� GHQJDQ�

PHQJJXQDNDQ� RSLQL� ]DNDW� ,QGRQHVLD�

����� GDQ� UDWD�UDWD� HVWLPDVL� ]DNDW� GDUL�

GHODSDQ� QHJDUD� VHEHVDU� ���� �� �+D\DWL�

	� &KDQLDJR�� ������� ,GHQWLILNDVL� SURILO�

SHPED\DU� =,6:$� GL� NDEXSDWHQ�

%DQ\XPDV� GDQ� 3XUEDOLQJJD� GLODNXNDQ�

GHQJDQ� PHQJJXQDNDQ� NXLVLRQHU� GDQ�

GLDQDOLVLV� GHQJDQ� VWDWLVWLN� GHVNULSWLI��

$GDSXQ� LQYHQWDULVDVL� SHUPDVDODKDQ�

\DQJ� WLPEXO� GDODP� SHPDVDUDQ� 23=�

DNDQ� GLODNXNDQ� GHQJDQ� PHQJJXQDNDQ�

WHNQLN� ZDZDQFDUD� PHQGDODP� GHQJDQ�

SHQJHOROD�23=��
�

+$6,/�'$1�3(0%$+$6$1�

23=� \DQJ� PHQMDGL� VXE\HN�

GDODP� SHQHOLWLDQ� GDODP� ZLOD\DK�

.DEXSDWHQ� %DQ\XPDV� DGDODK� %DGDQ�

$PLO� =DNDW� 'DHUDK� .DEXSDWHQ�

%DQ\XPDV�� /$=,6� 08� �/HPEDJD�

$PLO� =DNDW� ,QIDN� GDQ� 6HGHNDK�

0XKDPPDGL\DK��� � /HPEDJD� $PLO�

=DNDW� 1DVLRQDO� GDQ�

.HPDQXVLDQ'RPSHW� 'KXDID� GDQ�

/HPEDJD� .HPDQXVLDDQ� 1DVLRQDO�

3.38�� $GDSXQVXE\HN� SHQHOLWLDQ� GL�
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ZLOD\DK�.DEXSDWHQ�3XUEDOLQJJD�DGDODK�

%DGDQ� $PLO� =DNDW� 'DHUDK� .DEXSDWHQ�

3XUEDOLQJJD��/$=,6�-DWHQJ�GDQ�/$=,6�

08�3XUEDOLQJJD��

�

,GHQWLILNDVL� 3RWHQVL� GDQ� 5HDOLVDVL�

3HQJXPSXODQ�=DNDW�

����3RWHQVL�=DNDW�

8QWXN� PHQJLQGHQWLILNDVL� SRWHQVL�

]DNDW� GL� VXDWX� GDHUDK� GDSDW� GLJXQDNDQ�

SURSRUVL� WHUWHQWX� GDUL� 3HQGDSDWDQ�

'RPHVWLN� 5HJLRQDO� %UXWR�� � � 3RWHQVL�

]DNDW� GDSDW� GLKLWXQJ� GHQJDQ�

PHQJJXQDNDQ� RSLQL� ]DNDW� ,QGRQHVLD�

����� GDQ� UDWD�UDWD� HVWLPDVL� ]DNDW�

GDULGHODSDQ� QHJDUD� VHEHVDU� ���� ��

�+D\DWL�	�&KDQLDJR����������

7DEHO�EHULNXW�PHQXQMXNNDQ�SRWHQVL�

]DNDW� GL� .DEXSDWHQ� %DQ\XPDV� GDQ�

3XUEDOLQJJD��

�

7DEHO�������

3RWHQVL�=DNDW�.DEXSDWHQ�%DQ\XPDV�7DKXQ������������-XWDDQ�5XSLDK��

�

7DKXQ� 3'5%� 3RWHQVL�=DNDW�

��� �����

����� ������������� ������������� �������������

����� �������������� ������������� �������������

����� ������������� ������������� �������������

����� ������������� ������������� �������������

����� ������������� �������������� �������������

�

%HUGDVDUNDQ� WDEHO� �� GDSDW�

GLOLKDW� EDKZD� SRWHQVL� ]DNDW� GL�

.DEXSDWHQ� %DQ\XPDV�� PHQJDODPL�

NHQDLNDQ� GDUL� WDKXQ� NH� WDKXQ� GHQJDQ�

UDWD�UDWD� VHEHVDU�5S�5S����������� MXWD�

�SHUNLUDDQ� ��� GDUL� 3'5%�� DWDX� 5S�

����������� MXWD� SHU� WDKXQ� � �SHUNLUDDQ�

����� GDUL� 3'5%��� +DO� LQL� PHUXSDNDQ�

SHOXDQJ�EDJL�23=�XQWXN�PHQLQJNDWNDQ�

SHUROHKDQ� SHQJXPSXODQ� GDQD� ]DNDW� GL�

.DEXSDWHQ�%DQ\XPDV��

$GDSXQ� � SRWHQVL� =DNDW� GL�

.DEXSDWHQ� 3XUEDOLQJJD� GLVDMLNDQ� SDGD�

WDEHO���EHULNXW���

�

7DEHO������

3RWHQVL�=DNDW�.DEXSDWHQ�3XUEDOLQJJD�7DKXQ������������-XWDDQ�5XSLDK��

�

7DKXQ� 3'5%� 3RWHQVL�=DNDW�

��� �����

����� �������������� ������������ ������������

����� ������������� ������������ �������������

����� ������������� ������������ �������������

����� ������������� ������������ �������������
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%HUGDVDUNDQ� WDEHO� ���� GDSDW�

GLOLKDW� EDKZD� SRWHQVL� ]DNDW� GL�

.DEXSDWHQ� 3XUEDOLQJJD�� PHQJDODPL�

NHQDLNDQ� GDUL� WDKXQ� NH� WDKXQ� UDWD�UDWD�

VHEHVDU� 5S� � 5S� ���������� MXWD�

�SHUNLUDDQ� ��� GDUL� 3'5%�� DWDX� 5S�

��������� ��� MXWD� SHU� WDKXQ� � �SHUNLUDDQ�

����� GDUL� 3'5%��� +DO� LQL� PHUXSDNDQ�

SHOXDQJ�EDJL�23=�XQWXN�PHQLQJNDWNDQ�

SHUROHKDQ� SHQJXPSXODQ� GDQD� ]DNDW� GL�

.DEXSDWHQ�3XUEDOLQJJD��

����5HDOLVDVL�3HQJXPSXODQ�=DNDW�

3HUKLWXQJDQ� UHDOLVDVL�

SHQJXPSXODQ� SHQWLQJ� GLODNXNDQ� XQWXN�
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%HUGDVDUNDQ� WDEHO� �����

GLNHWDKXL�EDKZD�SHQJXPSXODQ�]DNDW�GL�

.DEXSDWHQ� %DQ\XPDV� GDODP� NXUXQ�

ZDNWX� ���������� EHUNLVDU� DQWDUD� ����

VDPSDL�GHQJDQ��������GHQJDQ�UDWD�UDWD�

������ EHUGDVDUNDQ� RSLQL� ��� GDUL�

3'5%�� $GDSXQ� EHUGDVDUNDQ� DVXPVL�

����� GDUL� 3'5%� DQJND� LQL� PHQMDGL�

OHELK� NHFLO� \DLWX� EHUNLVDU� DQWDUD� �����

VDPSDL� GHQJDQ� ����� SHUVHQ� GHQJDQ�

UDWD�UDWD� ����� SHUVHQ�� � 3HQFDSDLDQ� LQL�

PDVLK� VDQJDW� VDQJDW� NHFLO� MLND�

GLEDQGLQJNDQ� GHQJDQ� SRWHQVLQ\D�� � +DO�

LQL� PHQXQMXNNDQ� PDVLK� WHUEXND�

SHOXDQJ� EDJL� 23=� GL� .DEXSDWHQ�

%DQ\XPDV� XQWXN� OHELK� PHQLQJNDWNDQ�

MXPODK� SHQJXPSXODQ� ]DNDW� GL� ZLOD\DK�

LQL���

$GDSXQ� SHQFDSDLDQ�

SHQJXPSXODQ� ]DNDW� WDKXQ� ����� GL�

.DEXSDWHQ� %DQ\XPDV� VHFDUD� QRPLQDO�

PHQJDODPL� SHQLQJNDWDQ� GDUL� WDKXQ�

VHEHOXPQ\D�� \DLWX� PHQFDSDL� 5S�

����������������$NDQ�WHWDSL�NDUHQD�GDWD�

3'5%� .DEXSDWHQ� %DQ\XPDV� GDODP�

WDKXQ� \DQJ� VDPD� EHOXP� GLNHWDKXL��

PDND� WLGDN� GLNHWDKXL� SXOD� SURVHQWDVL�

SHQFDSDLDQ�WHUVHEXW��

6HODQMXWQ\D� GDODP� WDEHO� ����

EHULNXW� DNDQ� GLVDMLNDQ� WHQWDQJ�

SHUNHPEDQJDQ� SHQFDSDLDQ�

SHQJXPSXODQ� ]DNDW� ROHK� 23=� GL�

.DEXSDWHQ� 3XUEDOLQJJD� GDUL� WDKXQ�

����������� � %HUGDVDUNDQ� WDEHO� ����

GLNHWDKX�EDKZD� UDWD�UDWD�SHQJXPSXODQ�

]DNDW�GL�.DEXSDWHQ�3XUEDOLQJJD�GDODP�

DVXPVL� ��� GDUL� 3'5%� EHUNLVDU� DQWDUD�

����� VDPSDL� GHQJDQ� ����� SHUVHQ�

GHQJDQ� UDWD�UDWD� ����� SHUVHQ�� �$GDSXQ�

EHUGDVDUNDQ� DVXPVL� ����� 3'5%��

SHQJXPSXODQ� ]DNDW� GL� NDEXSDWHQ� LQL�

PHQFDSDL� DQJND� \DQJ� OHELK� NHFLO� ODJL�

\DLWX� EHUNLVDU� DQWDUD� ����� VDPSDL�

GHQJDQ� ����� SHUVHQ� GHQJDQ� UDWD�UDWD�

����� SHUVHQ�� � 3HQFDSDLQ� LQL� PDVLK�

VDQJDW� NHFLO� GLEDQGLQJ� GHQJDQ�

SRWHQVLQ\D�� � +DO� LQL� PHQXQMXNNDQ�

EDKZD� PDVLK� WHUEXND� SHOXDQJ� \DQJ�

EHVDU� EDJL� 23=� XQWXN� PHQLQJNDWNDQ�

MXPODK� SHQXPSXODQ� GDQD� ]DNDW� GL�

.DEXSDWHQ� 3XUEDOLQJJD�� � 'HQJDQ�

PXQFXOQ\D�GXD�23=�EDUX��\DLWX�/$=,6�

-DWHQJ� GDQ� /$=,6� 08� &DEDQJ�

3XUDEOLQJJD�� GLKDUDSNDQ� GDSDW� 23=�

GDSDW� EHNHUMD� VDPD� XQWXN� PHQJDPELO�

SHOXDQJ�LQL����

�

�

�
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3HQJXPSXODQ� ]DNDW� GL� .DEXSDWHQ�

3XUEDOLQJJD� SDGD� WDKXQ� �����

PHQJDODPL� SHQLQJNDWDQ� GLEDQGLQJ�

WDKXQ�WDKXQ� VHEHOXPQ\D�� �$NDQ� WHWDSL�

NDUHQD� EHOXP� GL� GDSDW� GDWD� EHVDU�

3'5%� WDKXQ� ������ PDND� EHOXP�

GLNHWDKXL� SURVHQWDVH� SHQFDSDLQ� LWX�

GLEDQGLQJ�GHQJDQ�3'5%�NDEXSDWHQ��
�

3URILO�0X]DNNL�

6HFDUD� XPXP�� SHQ\XPEDQJ�

PHUXSDNDQ� PXVOLP� \DQJ� EHUDGD� GL�

ZLOD\DK� 2UJDQLVDVL� 3HQJHOROD� =DNDW�

�23=�� EHURSHUDVL�� � 8QWXN� %$='$�

SHQ\XPEDQJ� GLGRPLQDVL� ROHK� 3HJDZDL�

1HJHUL� 6LSLO� GL� OLQJNXQJDQQ\D� VHGDQJ�

/$=� SHQ\XPEDQJQ\D� EHUDVDO� GDUL�

NDODJDQ� XPXP� DWDX� NRPXQLWDV� \DQJ�

WHUDILOLDVL�GHQJDQ�/$=�WHUVHEXW��

6HODLQ�EHUGDVDUNDQ�ZDZDQFDUD�

GDQD� GDWD� GDUL� ODSRUDQ� 23=�� XQWXN�

PHQJHWDKXL� SURILO� PX]DNNL�� SHQHOLWL�

MXJD� PHPEHULNDQ� NXLVLRQHU� NHSDGD�

SHQ\XPEDQJ� GL� .DEXSDWHQ� %DQ\XPDV�

GDQ� 3XUEOLQJJD�� 'LSHUROHK� UHVSRQGHQ�

VHEDQ\DN� ��� RUDQJ� GL� .DEXSDWHQ�

%DQ\XPDV� GDQ� ��� RUDQJ� GL�.DEXSDWHQ�

3XUEDOLQJJD�� %HUGDVDU� NXLVLRQHU�

WHUVHEXW� GLNHWDKXL� EDKZD� SHQ\XPEDQJ�

GL�ZLOD\DK�%DQ\XPDV�������EHUDGD�GL�

NHORPSRN� XVLD� DQWDUD� ������ WDKXQ��

���� ODNL�ODNL� GDQ� VHEHVDU� ���� GDUL�

UHSRQGHQ� EHUSHQGLGLNDQ� SHUJXUXDQ�

WLQJJL�� ������ EHUSHQJDKDVLODQ� DQWDUD�

���� MXWD�� �+DO� LQL�PHQXQMXNNDQ� EDKZD�

PX]DNNL� GL� ZLOD\DK� LQL� GLGRPLQDVL�

NHORPSRN�XVLD�SURGXNWLI�\DQJ��

�

PHPSXQ\DL� SHQJKDVLODQ� VHQGLUL� GDQ�

KDPSLU� VHOXUXKQ\D� PHUXSDNDQ� RUDQJ�

\DQJ� EHUSHQGLGLNDQ� EDLN�� � 0HUHND�

SDOLQJ� EDQ\DN� �������� EHUSURIHVL�

VHEDJDL� 3HJDZDL� 1HJHUL� 6LSLO� GDQ�

NDU\DZDQ� VZDVWD� GDQ� SHQJXVDKD�

PDVLQJ�PDVLQJ�VHEDQ\DN������SHUVHQ����

3DUD� SHQ\XPEDQJ� LQL�

PHQJHQDO� 23=� SDOLQJ� EDQ\DN� GDUL�

WHPDQ� ������� VDXGDUD� GDQ� EURVXU�

PDVLQJ�PDVLQJ� ������� NDQWRU� WHPSDW�

EHNHUMD� ������� NHORPSRN� SHQJDMLDQ��

PHGLD� GDQ� PDVMLG� PDVLQJ�PDVLQJ�

������� +DO� LQL� PHQXQMXNNDQ� EDKZD�

EHJLWX�EHVDU�SHUDQ�RUDQJ�RUDQJ�WHUGHNDW�

GDODP� SHQJHQDODQ� UHVSRGHQ� WHUKDGDS�

NHEHUDGDDQ�23=��

%HUGDVDUNDQ� NULWHULD�

SHPLOLKDQ� 23=�� VHPXD� �������

UHVSRQGHQ� PHUDVDNDQ� PDQIDDW� QRQ�

PDWHULDO� GHQJDQ� PHQ\DOXUNDQ� GDQD�

=,6:$� PHODOXL� 23=�� � 0DQIDDW� QRQ�

PDWHULDO� \DQJ� GLSHUROHK� GDUL� 23=�

DGDODK� DGDQ\D� NH\DNLQDQ� EDKZD� 23=�

DNDQ� OHELK� HILVLHQ� GDODP� SHQ\DOXUDQ�

=,6:$� GDQ� PHPEHULNDQ� GDPSDN�

SRVLWLI� EDJL� NHORPSRN� VDVDUDQ�

�PX]WDKLN� DWDX� SHQHULPD� =,6:$����

6HEDQ\DN� ����� SHUVHQ� UHVSRQGHQ�

PHPLOLK� 23=� NDUHQD� GHNDW� VHFDUD�

JHRJUDILV� GHQJDQ� ZLOD\DK� RSHUDVLRQDO�

GDQ� MXJD� GHNDW� VHFDUD� VRVLDO� GHQJDQ�

SHQJHOROD�23=���0X]DNNL�PXQILT�\DQJ�

PHUDVD� PHPLOLNL� NHGHNDWDQ� VRVLDO�

GHQJDQ� SHQJHOROD� =,6:$� �23=���

PHUHND� PHPSHUVHSVLNDQ� EDKZD�
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SHQJHOROD� DGDODK� NHOXDUJD� PHUHND��

VDKDEDW� PHUHND�� DWDX� SXQ\D�

SHQJDODPDQ� EHUVDPD�� VHUWD� DGDQ\D�

SHUDVDDQ� GHNDW� VHFDUD� VRVLDO� GHQJDQ�

PHUHND�� � +DO� LQL� PHQXQMXNNDQ� EDKZD�

SHUDQ� SHQJHOROD� XQWXN� PHPEXDW�

SHQ\XPEDQJ� PHUDVD� OD\DNQ\D� VHEDJDL�

VDXGDUD�� VDKDEDW� DWDX� RUDQJ� \DQJ�

PHPSXQ\DL� SHQJDODPDQ� EHUVDPD�

GHQJDQ�SHQJHOROD�VDQJDW�GLEXWXKNDQ��

6HPXD�UHVSRQGHQ��������MXJD�

PHPLOLK� 23=� NDUHQD� PHUDVD�

PHPSXQ\DL� QLODL�QLODL� \DQJ� VHVXDL�

GHQJDQ� QLODL�QLODL� 23=�� NDUHQD�

NRPXQLNDVL� \DQJ� EDLN� GDUL� 23=� GDQ�

MXJD� SURPRVL� \DQJ� GLODNXNDQ� ROHK�

23=���+DO�LQL�PHQXQMXNNDQ�SHQWLQJQ\D�

23=�XQWXN� VHODOX�PHQJNRPXQLNDVLNDQ�

GDQ� PHPSHUWDKDQNDQ� QLODL�QLODL�

EHUVDPD� GHQJDQ� SHQ\XPEDQJ�� � 6HODLQ�

LWX� MXJD� GLSHUOXNDQ� XVDKD�

PHPSURPRVLNDQ� NHEHUDGDDQ� GDQ�

PDQIDDW� 23=� GDODP� PHQJHOROD� GDQD�

=,6:$� GL� PDV\DUDNDW�� � 'LKDUDSNDQ�

SURPRVL� LQL� DNDQ� PHQLQJNDWNDQ�

NHVDGDUDQ� PDV\DUDNDW� XQWXN�

PHQ\DOXUNDQ� GDQD� =,6:$� PHODOXL�

23=���

%HUGDVDUNDQ� VWDWXV� UHVSRQGHQ��

VHEDQ\DN� ������ PHUXSDNDQ�

SHQ\XPEDQJ� WHWDS� GDQ� VLVDQ\D�

PHUXSDNDQ� SHQ\XPEDQJ� LQVLGHQWDO���

+DO� LQL� PHUXSDNDQ� NHVHPSDWDQ� \DQJ�

EDLN� EDJL� 23=� XQWXN� WHUXV�

PHQLQJNDWNDQ� KXEXQJDQ� EDLN� GHQJDQ�

SHQ\XPEDQJ�GDQ�PHQLQJNDWNDQ�MXPODK�

SHQJXPSXODQ�GDQD�=,6:$�� �6HODLQ� LWX�

PDVLK� WHUEXND� NHVHPSDWDQ� EDJL� 23=�

XQWXN� PHQMDGLNDQ� SHQ\XPEDQJ�

LQVLGHQWDO�PHQMDGL�SHQ\XPEDQJ�UXWLQ��

�

*DPEDUDQ�8PXP�.HJLDWDQ�

5HODWLRQVKLS�0DUNHWLQJ�GDQ�

3HUPDVDODKDQ�\DQJ�GLDODPL�ROHK�

2UJDQLVDVL�3HQJHOROD�=DNDW��23=��

%HUGDVDUNDQ� DQDOLVLV� GDWD�

NXDQWLWDWLI�GDQ�KDVLO�ZDZDQFDUD�GHQJDQ�

SHQJHOROD� GDQ� SHQ\XPEDQJ�� VHFDUD�

XPXP� 23=� EHOXP� VHSHQXKQ\D�

PHQMDODQNDQ� UHODWLRQVKLS� PDUNHWLQJ�

GDODP� PHQLQJNDWNDQ� MXPODK�

SHQJXPSXODQ� GDQD� =,6:$�� 23=�

NXUDQJ�PHPEHUL� SHUKDWLDQ� \DQJ�FXNXS�

NHSDGD� SHQ\XPEDQJ� ODPD�� NKXVXVQ\D��

3DGDKDO� SHQ\XPEDQJ� ODPD� �UXWLQ��

PHQMDGL� VXPEHU�SHPDVXNDQ�GDQD� \DQJ�

GDSDW� GLDQGDONDQ�� 6HMDXK� LQL� SURJUDP�

SURJUDP� 23=� XQWXN� PHQLQJNDWNDQ�

SHQJXPSXODQ� =,6:$� PDVLK�

GLIRNXVNDQ� SDGD� SHQDPEDKDQ�

SHQ\XPEDQJ� EDUX� GDQ� NXUDQJ�

PHQHNDQNDQ� SDGD� EDJDLPDQD� PHQMDJD�

DJDU� SHQ\XPEDQJ� ODPD� WHUXV�

PHQ\DOXUNDQ� GDQD� =,6:$� PHODOXL�

23=�� 23=� EHOXP� PHPSHUKDWLNDQ�

WLQJNDW�NHSXDVDQ�SHQ\XPEDQJ�WHUKDGDS�

OD\DQDQ� 23=�� � 3DGDKDO� LQL� SHQWLQJ�

XQWXN� PHQLQJNDWNDQ� UHWHQVL�

SHQ\XPEDQJ� XQWXN� PHPSHUWDKDQNDQ�

KXEXQJDQ� 23=� GHQJDQ� SHQ\XPEDQJ��

23=� MXJD�EHOXP�PHPSXQ\DL�GDWDEDVH�

\DQJ� OHQJNDS� WHQWDQJ� SURILO�

SHQ\XPEDQJ�� 6HMDXK� LQL�� GDWD�

SHQ\XPEDQJ�KDQ\D�GLVDPSDLNDQ�VHFDUD�

JOREDO� �QDPD�� DODPDW�� SHNHUMDDQ� GDQ�

MXPODK� VXPEDQJDQ�� VDMD�� WDQSD�

LQIRUPDVL�GHWLO���6HODLQ�LWX��23=�NXUDQJ�

PHOLEDWNDQ� SHQ\XPEDQJ� ODPD� GDODP�

SHQJHORODDQ� =,6:$�� 6HGLNLW� VDMD�

SHQ\XPEDQJ� \DQJ� EHUVHGLD�

EHUSDUWLVLSDVL� DNWLI� GDODP� SHQJHORODDQ�

=,6:$�GL�23=��

$GDSXQ� SHUPDVDODKDQ� \DQJ�

GLKDGDSL�ROHK�23=�GDODP�PHPDVDUNDQ�

RUJDQLVDVL� DGDODK� 3HUWDPD�� NHVDGDUDQ�

PDV\DUDNDW�GDODP�FDUD�PHQJKLWXQJ�GDQ�

PHQ\DOXUNDQ� GDQD� =,6Q\D� PHODOXL�

23=�� 6DDW� LQL� PDVLK� EDQ\DN�

PDV\DUDNDW� \DQJ� OHELK� VXND�

PHQ\DOXUNDQ� GDQD� =,6� VHFDUD� SULEDGL�

ODQJVXQJ� NHSDGD� \DQJ� EHUKDN��

3HQHOLWLDQ� VHEHOXPQ\D�

PHQJLQGLNDVLNDQ� NXUDQJQ\D�

NHSHUFD\DDQ�PDV\DUDNDW�WHUKDGDS�23=����

.HGXD�� 7HUEDWDVQ\D� DQJJDUDQ�

XQWXN�RSHUDVLRQDO�SHQJHORODDQ�=,6:$��
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%LD\D� RSHUDVLRQDO�PHOLSXWL� ELD\D� \DQJ�

GLNHOXDUNDQ� GDODP� SHQJHORODDQ� ]LV:D�

VHSHUWL� ELD\D� DGPLQLVWUDVL�� ELD\D�

SHPHOLKDUDDQ� SHUDODWDQ� GDQ�

SHUOHQJNDSDQ� NDQWRU�� ELD\D� VRVLDOLVDVL��

ELD\D� OHPEXU� NDU\DZDQ�� ELD\D�

SHQJDGDDQ� SHUOHQJNDSDQ� NDQWRU�� ELD\D�

SHODRUDQ� GDQ� ODLQQ\D�� � %LD\D� LQL� WLGDN�

ELVD� GLDPELONDQ� GDUL� GDQD� ]DNDW�� ROHK�

NDUHQD� SHUOX� GLFDULNDQ� VXPEHU�

SHPELD\DDQ� ODLQQ\D� VHSHUWL� LQIDN� GDQ�

VHGHNDK� DWDX� EDQWXDQ� GDUL� SHPHULQWDK�

XQWXN� %$='$�� 6HPXD� 23=�

PHQJDODPL� NHNXUDQJDQ� GDQD� XQWXN�

PHPELD\DL� LQL�� � $NLEDWQ\D� MDODQQ\D�

RUJDQLVDVL�NXUDQJ�PDNVLPDO���

.HWLJD��NXUDQJQ\D�MXPODK�GDQ�

NRPSHWHQVL�6'0�SDGD�23=��3HQJHOROD�

23=� XPXPQ\D� EXNDQ� SHUVRQDO� \DQJ�

PHPSXQ\DL� NRPSHWHQVL� WHQWDQJ�

SHQJHORODDQ� ]DNDW�� � 3HQJHOROD� ]DNDW� GL�

%$='$� EDQ\DN� EHUDVDO� GDUL� 316�

GLOLQJNXQJDQ� SHPHULQWDKDQ� \DQJ�

PHPSXQ\DL� WXJDV� ODLQ� GLVDPSLQJ�

PHQJHOROD�]DNDW�� �6HPHQWDUD�SHQJHOROD�

/$=� �OHPEDJD� $PLO� =DNDW�� EHUDVDO�

SHUVRQDO� \DQJ� PLQLP� SHQJDODPDQ�

PHQJHOROD� ]DNDW�� 6HODLQ� LWX�� SHUVRQDO�

NXUDQJ� PHPSXQ\DL� NRPSHWHQVL�

GLELGDQJ� DNXQWDQVL� GDQ� ,7�� +DO� LQL�

PHPEXDW� SHODSRUDQ� EHOXP� ELVD�

GLODNVDQDNDQ� GHQJDQ� PHQJJXQDNDQ�

SULQVLS�SULQVLS�DNXQWDQVL�\DQJ�GLWHULPD�

VHFDUD� XPXP�� -XPODK� SHQJHOROD� MXJD�

WLGDN� EDQ\DN�� VHNLWDU� ���� RUDQJ� MXJD�

PHQMDGL� KDPEDWDQ� WHUVHQGLUL���

6HGLNLWQ\D� MXPODK� 6'0� PHPEXDW�

PHUHND� NHVXOLWDQ� PHPEDJL� VXPEHU�

GD\D� XQWXN� WXJDV�WXJDV� \DQJ� EHJLWX�

EDQ\DN� GDODP� PHQJHOROD� ]DNDW�� PXODL�

SHUHQFDQDDQ�� SHODNVDQDDQ� VDPSDL�

SHQJDZDVDQ�� -XPODK� SHUVRQHO� \DQJ�

WLGDN�EDQ\DN�PHQJDNLEDWNDQ�WLPEXOQ\D�

NHVXOLWDQ� GDODP� PHQMDOLQ� KXEXQJDQ�

EDLN� GHQJDQ� SHQ\XPEDQJ�� NHVXOLWDQ�

GDODP�PHQMDODQNDQ�NHJLDWDQ�PDUNHWLQJ�

EDJL�23=��8QWXN�PHQ\HODUDVNDQ�ZDNWX�

DQWDUD� SHQJHOROD� GHQJDQ� SHQ\XPEDQJ�

MXJD� PHUXSDNDQ� SHUPDVDODKDQ�

WHUVHQGLUL�� $NLEDWQ\D� KXEXQJDQ� DQWDUD�

SHQJHOROD�GHQJDQ�SHQ\XPEDQJ�PHQMDGL�

NXUDQJ�WHUMDJD�GHQJDQ�EDLN��

.HHPSDW�� SHUPDVDODK� WHUNDLW�

6'0�� WHUXWDPD� XQWXN� /$=� \DQJ�

PHUXSDNDQ�&DEDQJ�GDUL�/$=�1DVLRQDO��

WHUNDGDQJ� WHUMDGL� GXDOLVPH�

NHSHPLPSLQDQ� GDODP� LQVWLWXVL�

PHQJDNLEDWNDQ� RUJDQLVDVLNXUDQJ� ELVD�

PDNVLPDO� GDODP� PHQJHPEDQJNDQ�

SURJUDP�SURJUDP� NHJLDWDQQ\D�� � 6HODLQ�

LWX� WHUVHQWUDOLVDVL� VLVWHP� PDQDMHPHQ�

RUJDQLVDVL� PHQ\HEDENDQ� ODPEDWQ\D�

UHVSRQ� 23=�� NDUHQD� VHPXD� KDUXV�

PHODOXL�GDQ�PHQGDSDW�SHUVHWXMXDQ�23=�

SXVDW�� �7HUNDLW�6'0��23=�PHPSXQ\DL�

SHUPDVDODKDQ� MXJD� \DLWX� NXUDQJQ\D�

NRPLWPHQ� SHQJXUXV� SDGD� NHEHUDGDDQ�

OHPEDJD���6HULQJ�NDOL�WHUMDGL�SHUJDQWLDQ�

SHQJXUXV�DWDX�SHQJHOROD�NDUHQD�SLQGDK�

SDGD�SHNHUMDDQ�ODLQQ\D��

�
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3HQHOLWLDQ�LQL�PHPEHUL�NHVLPSXODQ���

����+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNNDQ�

EDKZD� SRWHQVL� ]DNDW� GL� ZLOD\DK�

.DEXSDWHQ�WDKXQ������PHQFDSDL�5S�

��������� ������ MXWD� VDPSDL� GHQJDQ�

5S�� ��������� ����� MXWD�� � 6HWLDS�

WDKXQQ\D� SRWHQVL� LQL� PHQJDODPL�

SHQLQJNDWDQ� UDWD�UDWD� VHEHVDU� 5S�

������������� MXWD� �SHUNLUDDQ� ���

GDUL� 3'5%�� DWDX� 5S� ��������� �����

MXWD� �SHUNLUDDQ� ����� GDUL� 3'5%���

$GDSXQ� SRWHQVL� ]DNDW� GL�.DEXSDWHQ�

3XUEDOLQJJD� PHQFDSDL� 5S�

�������������MXWD�VDPSDL�GHQJDQ�5S�

������������� MXWD�� �6HWLDS� WDKXQQ\D�

SRWHQVL� LQL� PHQJDODPL� SHQLQJNDWDQ�

UDWD�UDWD� VHEHVDU� 5S� 5S�

������������� MXWD� �SHUNLUDDQ� ���

GDUL� 3'5%�� DWDX� 5S� �������������

MXWD��SHUNLUDDQ������GDUL�3'5%����

����3HQHOLWLDQ� LQL� MXJD� PHQXQMXNNDQ�

EDKZD� SHQFDSDLDQ� SHQJXPSXODQ�

]DNDW� PHODOXL� 23=� PDVLK� VDQJDW�

NHFLO� GLEDQGLQJNDQ� GHQJDQ�



'ZLWD�	�$OLVD���3RWHQVL�3HQFDSDLDQ����

-XUQDO�(NRQRPL�GDQ�%LVQLV�,VODP�_������

SRWHQVLQ\D��

����0X]DNNL� SDGD� XPXPQ\D� DGDODK�

NDXP� PXVOLP� \DQJ� EHUGRPLVLOL�

GLVHNLWDU� DWDX� GDODP� ZLOD\DK� NHUMD�

23=��EDKZD�SHQ\XPEDQJ�GL�ZLOD\DK�

%DQ\XPDV� ������ EHUDGD� GL�

NHORPSRN� XVLD� DQWDUD� ������ WDKXQ��

���� ODNL�ODNL� GDQ� VHEHVDU� ����GDUL�

UHSRQGHQ� EHUSHQGLGLNDQ� SHUJXUXDQ�

WLQJJL��������EHUSHQJDKDVLODQ�DQWDUD�

���� MXWD�� � +DO� LQL� PHQXQMXNNDQ�

EDKZD� PX]DNNL� GL� ZLOD\DK� LQL�

GLGRPLQDVL�NHORPSRN�XVLD�SURGXNWLI�

\DQJ� PHPSXQ\DL� SHQJKDVLODQ�

VHQGLUL� GDQ� KDPSLU� VHOXUXKQ\D�

PHUXSDNDQ� RUDQJ� \DQJ�

EHUSHQGLGLNDQ� EDLN�� �0HUHND� SDOLQJ�

EDQ\DN� �������� EHUSURIHVL� VHEDJDL�

3HJDZDL�1HJHUL� 6LSLO� GDQ� NDU\DZDQ�

VZDVWD� GDQ� SHQJXVDKD� PDVLQJ�

PDVLQJ�VHEDQ\DN������SHUVHQ����

����3DUD� SHQ\XPEDQJ� LQL� PHQJHQDO�

23=� SDOLQJ� EDQ\DN� GDUL� WHPDQ�

������� VHPXD� ������� UHVSRQGHQ�

PHUDVDNDQ� PDQIDDW� QRQ� PDWHULDO�

GHQJDQ� PHQ\DOXUNDQ� GDQD� =,6:$�

PHODOXL�23=���6HEDQ\DN������SHUVHQ�

UHVSRQGHQ� PHPLOLK� 23=� NDUHQD�

GHNDW� VHFDUD� JHRJUDILV� GHQJDQ�

ZLOD\DK� RSHUDVLRQDO� GDQ� MXJD� GHNDW�

VHFDUD�VRVLDO�GHQJDQ�SHQJHOROD�23=���

6HPXD� UHVSRQGHQ� ������� MXJD�

PHPLOLK� 23=� NDUHQD� PHUDVD�

PHPSXQ\DL� QLODL�QLODL� \DQJ� VHVXDL�

GHQJDQ� QLODL�QLODL� 23=�� NDUHQD�

NRPXQLNDVL�\DQJ�EDLN�GDUL�23=�GDQ�

MXJD� SURPRVL� \DQJ� GLODNXNDQ� ROHK�

23=�GDQ� GLNHWDKXL� VHEDQ\DN� ������

PHUXSDNDQ�SHQ\XPEDQJ�WHWDS��

����3HUPDVDODKDQ� \DQJ� GLKDGDSL� 23=�

DGDODK� 3HUWDPD�� NHVDGDUDQ�

PDV\DUDNDW� GDODP� FDUD� PHQJKLWXQJ�

GDQ� PHQ\DOXUNDQ� GDQD� =,6Q\D�

PHODOXL� 23=�� � .HGXD�� WHUEDWDVQ\D�

DQJJDUDQ� XQWXN� RSHUDVLRQDO�

SHQJHORODDQ� =,6:$�� � .HWLJD��

NXUDQJQ\D� MXPODK� GDQ� NRPSHWHQVL�

6'0�SDGD�23=��.HHPSDW��GXDOLVPH�

NHSHPLPSLQDQ� GDODP� LQVWLWXVL� GDQ�

WHUVHQWUDOLVDVL� VLVWHP� PDQDMHPHQ�

RUJDQLVDVL� PHQ\HEDENDQ� ODPEDWQ\D�

UHVSRQ�23=�� � 6HODLQ� LWX�� NXUDQJQ\D�

NRPLWPHQ� SHQJXUXV� SDGD�

NHEHUDGDDQ� OHPEDJD� PHQMDGL�

SHQJKDPEDW� EDJL� 23=� GDODP�

PHQMDODQNDQ�WXJDVQ\D��

�
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�����23=� PXODL� PHODNVDQDNDQ�

SHPDVDUDQ� KXEXQJDQ� GHQJDQ� FDUD�

PHPSHUKDWLNDQ� GDQ� PHPELQD�

KXEXQJDQ� EDLN� GHQJDQ�

SHQ\XPEDQJ� UXWLQ�� PHPDKDPL�

NHLQJLQDQQ\D� GDQ� PHPXDVNDQQ\D��

+DO� LQL� DNDQ� PHQJXUDQJL� ELD\D�

SHPDVDUDQ� �PDUNHWLQJ��� � NDUHQD�

ELD\D� XQWXN� PHPSHUWDKDQDQ�

SHQ\XPEDQJ�ODPD�GLEDQGLQJ�ELD\D�

\DQJ� GLNHOXDUNDQ� XQWXN�

PHQGDSDWNDQ�SHQ\XPEDQJ�EDUX��

�����6HEDLNQ\D�� PXODL� GLULQWLV� GDWDEDVH�

SHQ\XPEDQJ�� 23=� PHODNXNDQ�

GLYHUVLILNDVL� SURJUDP�� � 'HQJDQ�

PHPDKDPL� SURILO� SHQ\XPEDQJ�

PDND� 23=� DNDQ� OHELK� PXGDK�

PHPDKDPL� NHLQJLQDQ� GDQ�

NHEXWXKDQ� SHQ\XPEDQJ�� VHKLQJJD�

SURJUDP�SURJUDP� \DQJ�

GLODNVDQDNDQ��23=�OHELK�EHUYDULDVL�

GDQ� VHVXDL� GHQJDQ� NHLQJLQDQ�

SHQ\XPEDQJ����

����7HUXWDPD�EDJL�23=�EDUX��DJDU�PXODL�

PHPEHQDKL� ODSRUDQ� WHUWXOLV� \DQJ�

GLEXWXKNDQ� ROHK� SHQ\XPEDQJ���

/DSRUDQ� LQL� PHQFHUPLQNDQ�

WUDQVSDUDQVL� SHQJHORODDQ� GDQD�

=,6:$� \DQJ� GLODNXNDQ� 23=���

7UDQVSDUDQVL� \DQJ� EDLN� DNDQ�

PHQLQJNDWNDQ� NHSHUFD\DDQ�

SHQ\XPEDQJ�� � 3HQ\XPEDQJ� \DQJ�

SHUFD\D� DNDQ� VHWLD� XQWXN�

PHQ\DOXUND� GDQD� =,6:$� PHODOXL�

23=�� � 'LKDUDSNDQ� SRWHQVL� ]DNDW�

DNDQ� WHUFDSDL� GHQJDQ� MDODQ� VDODK�

VDWXQ\D� PHPHOLKDUD� KXEXQJDQ�

EDLN�GHQJDQ�SHQXPEDQJ�UXWLQ��
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����_�$/�7,-$5<��9RO������1R������-XQL������

�'$)7$5�3867$.$�

�$O�4XUDQ�$O�.DULP��

�'DUPDZDWL�� '�� 0XNWL�� 0�$� 	�

:DK\XGLQ�� ������ .LQHUMD�

/HPEDJD� $PLO� ]DNDW� GDODP�

3HQGHNDWDQ� %DODQFHG� 6FRUHFDUG�

�6WXGL� .DVXV� GL� NDEXSDWHQ�

%DQ\XPDV���0DMDODK�,OPLDK�,OPX�

3HQJHWDKXDQ� 6RVLDO�� 8QLYHUVLWDV�

6HEHODV� 0DUHW�� 9RO�� ��� 1R�� ��

6HSWHPEHU�������

'DUPDZDWL��'���/HVWDUL��3���0XNWL��0�$�

	� :DK\XGLQ�������

3HQJHPEDQJDQ� %DGDQ� $PLO�

=DNDW� 'DHUDK� VH�(NV�

.DUHVLGHQDQ�%DQ\XPDV��

+D\DWL�� ������ ,PSOHPHQWDVL� 3HUVSHNWLI�

3URVHV� %LVQLV� LQWHUQDO� GDQ�

SHODQJJDQ� SDGD� %DGDQ� $PLO�

]DNDW� 1DVLRQDO� -DNDUWD�� 7HVLV��

8QDLU��6XUDED\D��

+D\DWL��.�	�&KDQLDJR�� ,�� ������ =DNDW�

3RWHQWLDO�$V�0HDQV� WR�2YHUFRPH�

3RYHUW\� �$� VWXG\� LQ� /DPSXQJ���

-RXUQDO� RI� ,QGRQHVLDQ� (FRQRP\�

	� %XVLQHVV�� 9RO�� ���� 1R� ��� 0D\�

������

+D\DWL��.�	�&KDQLDJR��,��������0RGHO�

RI� 3RRU� 6RFLHW\� (PSRZHUPHQW�

7KURXJK��2SWLPL]LQJ�RI�=DNDW���$�

&DVH� 6WXG\� ,Q� /DPSXQJ�

3URYLQFH���-RXUQDO�RI� ,QGRQHVLDQ�

(FRQRP\�	�%XVLQHVV��9RO������1R�

���0D\�������

0DQQDQ���0�$�������7HRUL�GDQ�3UDNWHN�

(NRQRPL� ,VODP�3HQHUELW� 'DQD�

%KDNWL�:DNDI��<RJ\DNDUWD��

0ROHRQJ�� /H[\� -�� ������ 0HWRGRORJL�

3HQHOLWLDQ� � .XDOLWDWLI�� 3HQHUELW�

37� 5HPDMD� 5RVGD� NDU\D�

%DQGXQJ��

<LQ�� 5REHUW� .�� ������ 6WXGL� .DVXV�

�'HVDLQ�GDQ�0HWRGH���&HWDNDQ�NH�

WLJD�� 37�� 5DMD� *UDILQGR� 3HUVDGD��

-DNDUWD�� 3UHVV� 5HOHDVH�� 3XEOLF�

([SRVH� ,QGRQHVLD� =DNDW� DQG�

'HYHORSPHQW� 5HSRUW� �,='5��

������
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